90+

cota = ?

4 _ 8
sina sin(90+ a)

4 8
sinot  cosa

4cosa = 8.sina

cosa 8
- =—=2
sino 4

tan45 +tana
tan(45 + a) = 1—tan45.tana
2 _1+tana

1~ 1—-tana
2 —2tana=1 +tana

1= 3tana

1_
5 = tana

Cevap: D

Cevap: A

TASARI EGITIM YAYINLARI

D

Xx+a+b=90
x=90—-(a+b)
tanx =tan(90 — (a + b)
=cot(a + b)
-1
tan(a+b)

1
tana+tanb
1 —tana.tanb

3,8  12+15

54 20

;83 11
5 4 20

—_
—_
—_
—_

T 27 T 27 20 27
20 20 11
11

20
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Cevap: A
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2

ol

A 6
X+y+a=180
a=180—-(x+Y)
tano = tan(180 — (x + )

=—tan(x +vy)

tanx +tany
1 —tanx.tany

6
2

+
3.6
4

|
Y
o
»|
—
o

Cevap: E

B

A(PﬁC)yi bulalim.
X +y=180
x=180-y
sinx = sin(180 —y)
= siny
4

5

Cevap: E

TASARI EGITIM YAYINLARI

2
tano +
tano +tan
tan(oz+[5)=1 anat P _ 32 :%
—tana.tanf 1 _tano. 2
3
2 4
tana + 3 _2—3~tana
4 —0_2
tana + 3 tano =2 3
7.tano _ 4
3 3
tana:%
Cevap: A
o]
a \y
X+a+y=180
a=180—-(x+Yy)
cota = cot(180 — (x +y))
=—cot(x +y)
_ -1 _ -1
" tan(x+y)  tanx+tany
1 —tanx.tany
_ tanx.tany —1
~ tanx+tany
2.4 _
_4 1
T 2.4 9
477 2
_2
-9
Cevap: C
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tan(A)
Xx+y+a=180
a=180—-(x+vy)
tana = tan(180 — (x +y))
=—tan(x +vy)

tanx +tany
1 —tanx.tany

5 2
273
= 5 2
123
1544 19
___6 __ 6
- =%
=3 3
_19 3_19
=6 2" 4

Cevap: C

TASARI EGITIM YAYINLARI

10.

tanx +tana

tan(x +a) = 1 —tanx.tana

2
tanx+3

2
1—tanx~3

_5
"3

-tanx —tanx+g

=2- 3

=tanx + itanx

=2- 3

cp|r\> w|4>

=1~tanx
3

EUENEAIEN

= tanx

Cevap: E

+

sm(

INE

el
gn( )4—cos< )
sin( ) +sin( 57

. (BT 31
2.sm< 8 ) 2. sm( 2 )

M)

D D

=2.sin135
= 2sin(180 — 45)

Cevap: D
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11. f(x) = sin’x — e*

f(x) = 2.sinx.cosx — 2.6

T\ _5ain I _
f<2>_2.sm2.0032 2.e

=0-2¢e"=-2.¢"

. 2 1\2
12. (sinx —cosx)” = (§>

sin® — 2.8iNX.COSX + cos>X =

. 1
1 — 2sinx.cosx = 2

1 = 2SiNX.cosx

_1
4

3 .
4= sin2x

13. cosx + tanx . sinx =2
1 — 2.sin’x
cosx + tanx.sinx = 2

sinXx
COSX +
COSX

-sinx =2

cos?x +sin?x

=2
cosXx
1 =2.cosx
1
5 = COsX

1 — 2.sin’x = 2.cos’x — 1

1 2
_4J—1
1
=2, 1
1 __1
=5, 173

1
4

Cevap: D

Cevap: C

Cevap: B

TASARI EGITIM YAYINLARI

in2x + 1 .
14. .Si—smx
sinX + cosx

sin2x + 1 — sin2x — sinx. cosx
sinX 4+ cos X

~ sin2x

sin2x + 1 — sin2x 5

sinX + cosx

2.s8in2x + 2 — 2.sin2x — sin 2x
2(sinx + cosx)

sin2x +2(1 — sin?x)
2.(sinx 4+ cosx)

2.sinX.cosX + 2.c0s2x
2(sinx +cosx)

2.cosx(sinx +cosx)
2.(sinx + cosx)

= COSX

arctan(tanﬂ)
3) arctan(v3)

15. > >

I
m‘w\:\
E

. 1
16. sinx.cosx = 4
(sin®x + cos®)? = (1)®
. 4 . 2 2 4
Sin“X + 2.8iN°X.Cos°X + cos x = 1

2
sin’X + cos’x + 2(%) =1

i 4 _q_ 2 _14 _ 7
sin"x + cos'x = 1 6-16 "8

Cevap: D

Cevap: D

Cevap: C

---------------------
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_ 3 sin12.cos 32 + cos 12.sin 32
17. tanx + cotx = 5 20. 5 00S02.5in22
tan’x + cot’x = ? _sind4 _
32 ~ sin44 T
2_ (2
(tanx + cotx) —(2) Cevap: E

tan®x + 2.tanx.cotx + cot’x = %

tan®x + cot’x + 2 = %

Ao

tan® + cot’x = > — 2

tan®x + cot’x =

ENIE

Cevap: A

TASARI EGITIM YAYINLARI

2sinx.cosx—1 _ 2.cos?x—1

18. -
sinx cosXx
2.cosXx —.L =2.CO0SX —
sinx cosXx
11
sinx  CoOsX
COSX = sinx
x= X~
T4
Cevap: D
19. f(x) = sin(x® + 2x)
fi(x) = (2x + 2).cos(X® + 2X)
f(0) = (2.0 + 2).cos(0° + 2.0)
=2
Cevap: E

[ ———— e ———
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